For Date: 09/14/2021 - Tuesday

· · · · · ·		1 1 1 1 2		
Call Number	Time	Call Reason		Action
21-11922 Location/Addr Jurisdict	cess:	Phone - ELEVATOR 911 TEST [MAR 482] HUMPHREY ST MARBLEHEAD		Services Rendered
21-11927 Vicinity Jurisdict	/ of:	Cellular - FOUND CHILDRENS BIC [MAR 1284] WYMAN RD MARBLEHEAD	CYCLE	Services Rendered
Location/Addr Jurisdict	y Id: ress: tion:	Cellular - CUSTODY ISSUE Police Patrol ADAM F MASTRAN [MAR 16687] WESTLEDGE RD MARBLEHEAD 65	Services Rendered	
Refer To	Incide	Disp-09:18:26 nt: <u>21-825-OF</u>	Arvd-09:28:43	Clrd-09:33:33
Location/Addr Jurisdict	/ Id: ress: tion:	Walk-In - THEFT Police Patrol SEAN M SWEENEY [MAR 15189] GREEN STREET CT MARBLEHEAD 67	/ JR	Investigated
Refer To) Incide	Disp-09:20:06 ent: <u>21-823-OF</u>	Arvd-09:20:58	Clrd-09:28:01
21-11933 Location/Addr Jurisdict	cess:	911 - 911 Hang-Up [MAR 16687] WESTLEDGE RD MARBLEHEAD 65		Investigated
		Disp-09:44:07	Arvd-09:46:12	Clrd-09:47:50
21-11934 Primary Location/Addr Jurisdict U	/ Id: ress:	Cellular - NEW GRAFFITI Police _ Patrol TIMOTHY J MORI [MAR 1284] WYMAN RD MARBLEHEAD 68 Disp-09:44:00		Investigated Clrd-09:54:51
Refer To) Incide	nt: <u>21-824-OF</u>		
Vicinity Jurisdict		Initiated - STUCK TRACTOR TRAN PLEASANT ST + BALDWIN RD MARBLEHEAD 61	ILER	Services Rendered
		01	Arvd-10:05:00	Clrd-10:11:31
21-11936 Location/Addr Jurisdict	cess:	Phone - TRIPPED DETECTOR SAND [MAR 12857] PROSPECT CT MARBLEHEAD	ING	Services Rendered
21-11938 Location/Addr Jurisdict	cess:	Cellular - PUTTING UP TEMP FEN [MAR 6512] ENDICOTT AVE MARBLEHEAD	NCE	Services Rendered
21-11940 Primary Location/Addr Jurisdict	/ Id: ress:	Phone - NEIGHBOR DISPUTE Police Patrol TIMOTHY J MORI [MAR 17873] CONANT RD MARBLEHEAD 68	LEY	Peace Restored
	Jnit:		Arvd-11:47:58	Clrd-12:08:36
			Arvd-12:00:27	Clrd-12:08:40
21-11941 Location/Addr Jurisdict		911 - FIRE ON STOVETOP [MAR 5988] STACEY CT MARBLEHEAD		Extinguished

	Marblehead Po	olice Depart	ment	Page:	2
Dispatch Log Fro	m: 09/14/2021 Thru: 09/15/202	1 0700 - 07	00 Printed: 09/15/2021	2	
Unit:	61 Dian 11.52.29	Arvd-11:56:59	clard 12,21,20		
Unit:	67				
EMS Unit:		Arvd-11:58:59			
	Disp-11:53:14 InQrtsUnavl-12:31:27 InSrvc		Clrd-12:31:27		
Fire Unit:	ENG2-Pumper-Engine 2 Disp-11:53:27	Arvd-11:56:58	Clrd-12:31:22		
Fire Unit:	InQrtsUnavl-12:31:22 InSrvc ENG4-Pumper-1994 Spartan				
THE ONLY.	Disp-11:53:44 InQrtsUnavl-12:12:52 InSrvc4		Clrd-12:12:52		
Fire Unit:	LADDER1-Quint-Ladder		al 1.10.01.10		
	Disp-11:53:57 InQrtsUnavl-12:31:20 InSrvc	Arvd-11:59:41 e-12:31:20	C1rd-12:31:19		
Fire Unit:	C1-Command-FIRE Chiefs Car	Arvd-11:57:07	Clrd-12:31:24		
Unit:	InQrtsUnavl-12:31:24 InSrvce	e-12:31:24			
		Arvd-11:59:54	Clrd-12:31:36		
21-11942 1205 Vicinity of:	Walk-In - FOUND TRAILER PLAT	2	Services Rendered		
Jurisdiction:	MARBLEHEAD	TT 1/2 TO 200			
Vehicle:	GRY 1987 TR BOAT TRAILER Red	-	VIN: MATR831581344		
21-11946 1418 Primary Id:	Walk-In - COMPUTER WAS HACKE Police Patrol SEAN M SWEEN		Investigated		
	[MAR 7905] LATTIMER ST MARBLEHEAD				
Unit:	67	Arvd-14:22:34	Clrd-15.01.58		
Refer To Incide	ent: $21-827-OF$		0114 13.01.50		
21-11951 1545	Walk-In - Found/Lost Propert	Y	Services Rendered		
Location/Address:	Walk-In - Found/Lost Propert [MAR 3671] ROOSEVELT AVE MARBLEHEAD	¥	Services Rendered		
Location/Address: Jurisdiction: 21-11952 1609	[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance	Ŷ	Services Rendered Could Not Locate		
Location/Address: Jurisdiction: 21-11952 1609	[MAR 3671] ROOSEVELT AVE MARBLEHEAD	Ŷ			
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of:	[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68				
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction:	[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 65	Arvd-16:14:34	Could Not Locate		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: Unit:	[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 65 Disp-16:13:13	Arvd-16:14:34	Could Not Locate Clrd-16:28:04 Clrd-16:28:04		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: Unit: 21-11953 1640 Location/Address:	[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 65 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD	Arvd-16:14:34	Could Not Locate		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: Unit: 21-11953 1640	[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 65 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68	Arvd-16:14:34 Arvd-16:14:33	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: 21-11953 1640 Location/Address: Jurisdiction:	[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 65 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68	Arvd-16:14:34	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: 21-11953 1640 Location/Address: Jurisdiction:	[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68 Disp-16:40:38 Initiated - Motor Vehicle St	Arvd-16:14:34 Arvd-16:14:33 Arvd-16:48:43	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: 21-11953 1640 Location/Address: Jurisdiction: Unit: 21-11957 1833 Location/Address: Jurisdiction:	[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68 Disp-16:40:38 Initiated - Motor Vehicle St [MAR 1137] WASHINGTON ST MARBLEHEAD	Arvd-16:14:34 Arvd-16:14:33 Arvd-16:48:43	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated Clrd-16:51:53		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: 21-11953 1640 Location/Address: Jurisdiction: Unit: 21-11957 1833 Location/Address:	[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68 Disp-16:40:38 Initiated - Motor Vehicle St [MAR 1137] WASHINGTON ST	Arvd-16:14:34 Arvd-16:14:33 Arvd-16:48:43 op Arvd-18:33:00	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated Clrd-16:51:53 Verbal Warning Clrd-18:37:24		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: 21-11953 1640 Location/Address: Jurisdiction: Unit: 21-11957 1833 Location/Address: Jurisdiction: Unit: Vehicle: 21-11959 2028	<pre>[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 65 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68 Disp-16:40:38 Initiated - Motor Vehicle St [MAR 1137] WASHINGTON ST MARBLEHEAD 65 GRY 2018 VOLK SE JETTA Reg: Phone - Disturbance</pre>	Arvd-16:14:34 Arvd-16:14:33 Arvd-16:48:43 op Arvd-18:33:00	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated Clrd-16:51:53 Verbal Warning Clrd-18:37:24		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: Unit: 21-11953 1640 Location/Address: Jurisdiction: Unit: 21-11957 1833 Location/Address: Jurisdiction: Unit: Vehicle: 21-11959 2028 Location/Address: Jurisdiction:	<pre>[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 65 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68 Disp-16:40:38 Initiated - Motor Vehicle St [MAR 1137] WASHINGTON ST MARBLEHEAD 65 GRY 2018 VOLK SE JETTA Reg: Phone - Disturbance [MAR 7062] NORMAN ST MARBLEHEAD</pre>	Arvd-16:14:34 Arvd-16:14:33 Arvd-16:48:43 op Arvd-18:33:00	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated Clrd-16:51:53 Verbal Warning Clrd-18:37:24 VIN: 3VW2B7AJ4JM249481		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: 21-11953 1640 Location/Address: Jurisdiction: Unit: 21-11957 1833 Location/Address: Jurisdiction: Unit: Vehicle: 21-11959 2028 Location/Address: Jurisdiction: Unit:	<pre>[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68 Disp-16:40:38 Initiated - Motor Vehicle St [MAR 1137] WASHINGTON ST MARBLEHEAD 65 GRY 2018 VOLK SE JETTA Reg: Phone - Disturbance [MAR 7062] NORMAN ST MARBLEHEAD 63 Disp-20:29:23</pre>	Arvd-16:14:34 Arvd-16:14:33 Arvd-16:48:43 op Arvd-18:33:00 PC MA 2FBA23 V	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated Clrd-16:51:53 Verbal Warning Clrd-18:37:24 VIN: 3VW2B7AJ4JM249481		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: Unit: 21-11953 1640 Location/Address: Jurisdiction: Unit: 21-11957 1833 Location/Address: Jurisdiction: Unit: Vehicle: 21-11959 2028 Location/Address: Jurisdiction:	<pre>[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68 Disp-16:40:38 Initiated - Motor Vehicle St [MAR 1137] WASHINGTON ST MARBLEHEAD 65 GRY 2018 VOLK SE JETTA Reg: Phone - Disturbance [MAR 7062] NORMAN ST MARBLEHEAD 63</pre>	Arvd-16:14:34 Arvd-16:14:33 Arvd-16:48:43 op Arvd-18:33:00 PC MA 2FBA23 M Arvd-20:34:21	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated Clrd-16:51:53 Verbal Warning Clrd-18:37:24 VIN: 3VW2B7AJ4JM249481 Investigated		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: 21-11953 1640 Location/Address: Jurisdiction: Unit: 21-11957 1833 Location/Address: Jurisdiction: Unit: Vehicle: 21-11959 2028 Location/Address: Jurisdiction: Unit:	<pre>[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68 Disp-16:40:38 Initiated - Motor Vehicle St [MAR 1137] WASHINGTON ST MARBLEHEAD 65 GRY 2018 VOLK SE JETTA Reg: Phone - Disturbance [MAR 7062] NORMAN ST MARBLEHEAD 63 Disp-20:29:23 65</pre>	Arvd-16:14:34 Arvd-16:14:33 Arvd-16:48:43 op Arvd-18:33:00 PC MA 2FBA23 M Arvd-20:34:21	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated Clrd-16:51:53 Verbal Warning Clrd-18:37:24 VIN: 3VW2B7AJ4JM249481 Investigated Clrd-20:40:43		
Location/Address: Jurisdiction: 21-11952 1609 Vicinity of: Jurisdiction: Unit: 21-11953 1640 Location/Address: Jurisdiction: Unit: 21-11957 1833 Location/Address: Jurisdiction: Unit: Vehicle: 21-11959 2028 Location/Address: Jurisdiction: Unit: Unit:	<pre>[MAR 3671] ROOSEVELT AVE MARBLEHEAD Phone - Disturbance [MAR 9953] ATLANTIC AVE MARBLEHEAD 68 Disp-16:13:13 Phone - 911 Hang-Up [MAR 11872] ARROWHEAD RD MARBLEHEAD 68 Disp-16:40:38 Initiated - Motor Vehicle St [MAR 1137] WASHINGTON ST MARBLEHEAD 65 GRY 2018 VOLK SE JETTA Reg: Phone - Disturbance [MAR 7062] NORMAN ST MARBLEHEAD 63 Disp-20:29:23 65 Disp-20:29:26</pre>	Arvd-16:14:34 Arvd-16:14:33 Arvd-16:48:43 op Arvd-18:33:00 PC MA 2FBA23 M Arvd-20:34:21	Could Not Locate Clrd-16:28:04 Clrd-16:28:04 Investigated Clrd-16:51:53 Verbal Warning Clrd-18:37:24 VIN: 3VW2B7AJ4JM249481 Investigated Clrd-20:40:43 Clrd-20:40:43		

3

	Marblehead Po	lice Depart	ment Page:
Dispatch Log Fror Jurisdiction:	n: 09/14/2021 Thru: 09/15/2021	1 0700 - 07	00 Printed: 09/15/2021
Unit:	68 Disp-20:37:38	Arvd-20:39:51	Clrd-21:31:28
Unit:	DET Disp-20:38:34	Arvd-20:38:38	Clrd-21:17:48
Unit:	MONT Disp-20:57:53		Clrd-09/15/2021 @ 09:15:02
Refer To P P/C:	/C: 21-50-AR		
Address:			
Age: Charges:	PROTECTIVE CUSTODY		
21-11963 2114 Primary Id: Location/Address: Jurisdiction: Unit:	Police Patrol ANDREW P DIMA [MAR 266] COMMUNITY RD		Services Rendered
01110.		Arvd-21:15:21	Clrd-21:15:25
	Initiated - Property Check Police _ Patrol ANDREW P DIMA [MAR 134] ATLANTIC AVE MARBLEHEAD 65	RE	Services Rendered
01110:	65	Arvd-21:19:45	Clrd-21:19:49
21-11965 2125 Location/Address: Jurisdiction:	Phone - LOST CELL PHONE [MAR 4576] DEVEREUX TER MARBLEHEAD		Services Rendered
Location/Address:	Initiated - Property Check Police _ Patrol ANDREW P DIMA [MAR 482] HUMPHREY ST MARBLEHEAD 65	Services Rendered	
01110.		Arvd-21:34:52	Clrd-21:34:58
21-11969 2204 Primary Id: Location/Address: Jurisdiction: Unit:			Services Rendered
0		Arvd-22:04:32	Clrd-22:04:38
For Date: 09/15/2021	Wednesday		
21-11971 0019 Location/Address: Jurisdiction: Unit:	Initiated - Found/Lost Proper [MAR 1284] WYMAN RD MARBLEHEAD 63	ty	Services Rendered
01110.		Arvd-00:19:00	Clrd-00:19:54
_	Initiated - Property Check [MAR 6740] FERRY LN MARBLEHEAD 63		Services Rendered
0.1201		Arvd-00:23:00	Clrd-00:24:08
Jurisdiction:	Initiated - Property Check [MAR 1284] WYMAN RD MARBLEHEAD 62		Services Rendered
		Arvd-00:30:00	Clrd-00:30:46
-	Initiated - Property Check [MAR 134] ATLANTIC AVE MARBLEHEAD 62		Services Rendered
Unit:	02	Arvd-00:35:00	Clrd-00:36:36

Page: 4

Arvd-06:35:00 Clrd-06:35:59